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<LNGFE #80 A ffirg > < LPG tya A fflisg >
52,870 (M/".) X 0.9576 + 44260 (/%)  x 0.0466 = 52,690.828 (M/".)
= 52,690 (H/".) X10MEKmEDERA
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< EAEFHRFMEE > <EHRFHEE >
83,350 (H/%.) - 52,690 (F4/%.) = 30,660 (F4/%.)
= 30,600 (/".) 100K FHEYIET
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< RIS EEE > <HBRE>
30,600 (/%) X 0.081 (H/m) - 100 (H/*.) X (1 4+ 010) = 272646 (A/m)
= 2727 (H/m) NN EIRUTEY LT
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<EHEHAHE> <fEEH S HifzEEE>
169.03 (A/m) — 2727 (A/m) = 141.76 (A/m)
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141.76 (A/m) - 142.47 (/m) A0.71 (A/m)
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<EXpE> <fERP L B> <AREAE>
1,588.88 (M/A) +  141.76 (A/m) x 31(m/8) = 5,983.44 (M/H)
= 5983 (M/A) XIARBEYIET
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